
�� ������� �������������� ������������ �

������� �������������� �� �� ����������  ��!�����" �� �� #�$��%����
&$�'������� ����$��� �� (�����) *%+���
���� ������������)��� ���,�$��� -����.����)� #������ /$%� (����������01$�2��) 3���$�
4����*�$�'�) 5���� ����������6����$��) 5��% �$��$�� -�'����.����!

�4��������$�� �� *������������ �� �� 7������� �� 8��$���� 9������� �� �� #�$��%���� &$�'������� ����$���
�� (�����:
 7������� �� 8��$���� 9������� �� �� #�$��%���� &$�'������� ����$��� �� (�����:
!8�$��� �� /$'���������$�� �$ 8��$���� *�������������� ��� /$������� �� 8��$���� �� �� #�$��%���� &$�'�������
����$��� �� (�����::

-������� ;< *�=� >�;;? �������� ;< 5���� >�;;

��������� �� ��,���'� ��� �����$�� �����,� !�� �������$�� �� @��� ��������$� �$ �� ����������  �� 7�����" = �� ������
��$�����$ �� ��$��������$:  !��"�!# $ %&��'�(� �� ������� ��$������ �$A �B �������� �������������� ��� ����'� ��������1�
C��) �B �������� ��������������������$��� = �� �����C���� = �B ������� �� ��$��������$: )�(*#�!'�(� �$ �� ���������� ��
�������$ ������ ;D �������� �� 2�$��� = < ��������$�� E�� ��$�����=�$ �$ ������� ����$���� ��$��� �� ������'����$ �� $������
����������) =� E�� ��� ��$����$�$��� �� �$���$���$ '������ = �$ ����'����: ����1� ���� �� ����������� �� ������ �$!���
������� ������$����� ��$�� �$ �� �����$�� E�� ������ �$ �� ���������� ���� �$ ��� ��������: ��� ���� �$��!F$����� ��������)
6�$�������$) 7��������� = 8����$�����) �����$ ��� ���������� ���� !������ �� #��������� � �$� ��$��$������$ ��$�� � ��
������$���� ��� �� ���'����� �$ ��$�� �� �����$�� �� ;�� G �� �$2������$: �� ����� �� ��$����$����$ �� �� ����������
 ��!�����" ���$�C��) E�� �+����$ ��$�����$�� !�'������� ���� �� ���������� = ��������$�� �� ��� ���������$����� ��������:
+!#!�"!( ,#!��� *�$������ ��������������) �����$�� �$��������) ����������) ��$��������$:

����-����� .2� ��� H�� �� �������$� �2� ��������� @��� �$ �2� ������=  ��!�����" �$� �2� �������$�����$ �! ��$��������$::
 !��"�!# !.'  ��/�'(� .2� ����= H�� �� !����H�A �B ��������������� ������$� �! ����������2���� ������) �B �$'���$��$���
��������������� ������$� �$� ���!����) �$� �B ��$��������$ ����=: )�(*#�(� ;D !�$�� �$� < ��������� ������� H��� ��������)
��$������� � ����$���� ��$��� �� �2� ������'����$ �! ������= ������� �2� ��$����$�$�� ��� '����� �$� ����'�: 7���2������ ��
�� �������� �� ����� �������$����� �������� �$ ���2 �2� ���I H��J�$� �$� �2� �����: .2� �2��� ������ �$��!�$���� ��$ �� ����
�� !������� �2� ������= �� � ��H�� ��$��$������$ �2�$ �������$��� �= �2� �������� H��2 ;�� G �$2������$: 8�$����$����$
������ �! �2� ������= K��!�����K �������$�� �2�� �2��� ��� !�'������ ��$�����$� !�� ��'������$� �$� ���H�2 �! ��������
���������$����::
0�$ 1�"'(� *�������������� ������$�) �$���� �$'���$��$���) ������=) ��$��������$:

23 4.�"�'*--�5.

�� ��=���� �� $������� ����'������ ���$������$ �$
�����$��� ��������) ��� ������ ��$ ���%������ � ���
�������) ���$�� �$ �����$�� E�� ����� �������� ������
�$ �� �����) =� ��� ��� �� $��������� ��� �����,� � ���
E�� ���� ������� $� ���$�� ��$ ��� ��$�����$�� �����
��� �������� � ������� ��� ���� ����������) �� ����� ���
!������� !������) E������� =L� ���������� E�� �$������

� 3 �. ,3 6#%! 758�9:;!"-<!: 4��������$�� �� *�����
�������� �� �� 7������� �� 8��$���� 9�������: ���C��� ;�<�
M: 8����� &$�'���������: #�$��%���� &$�'������� ����$���
�� (�����: 8(: N><N�) (�����) *%+���: 8����� �������$���A
����:�����O������:����:�

���$�$ �$��� ��: �� �����$��� �� ���$��� ���������� �$
�� ���� �� �$��������) ���� ��������� = 2�$���) �����
��$������� �� ��$����� ��� ���C��� �$!����) ��$������
$�$�� ���������$��� �$ '��� �������������) �,��) = �$
�� ���� �� ��� �����$���) ����1� �� ������ � �������
���� �������� �������$�� E�� �� ��������� �$ ���2�
���C���) ��� �� �� ���� �� ��� �����������:�� �!"���

�� ����������  5��% *���� ��!�����" 2�$�� ���
������ �$ �� �����$ ����� �� �� 2�= &$�'�������
����$��� �� (�����A �$ �� ����� P6/) ���$�� �����$ �
(����� ��� �������� ���������� �� �� �����Q�� �� 5��F�)
��=� ���$����� �E����,� ������ ��$�������� ��� ��� ���
���� E��) ����� ����Q�) 2����$ ���������� � ��� ���
��%$ ��$E�������� ������� �� ��%����: 8��$�� !�$��$

-�' *�� &�0 R��'� %����? 6��: >A R�: D: 5���� >�;; � 0��������� >�;;



������������ � -�'���� *%���� �� �� &�0 �;

�� 8������ 0���$���� �� 0�$ 5���$���) �$ ;<N�) ��$
���� ������ ��� E�� ��$�����=�$ �� ������� ����������:
0�$ �������) �� �� !�$�����$ ��� 8������ ��� ��������
0�$�� �$ �� ����� E�� ��������$�� ��$������ ����
���C��� 8�����$�) �� E�� ����� �� �$���� �� �� E�� 2�=
�� �� ����������  5��% *���� ��!�����": ���� ������� ��
!�$�� �$ ;<�N ������� �� ��$���'� �� ��$ *���2�� ��
8�'��������) ���� ��������$�� �$  ���$�" �'���$����
�$ (�����) �$ �$ �������� �$�+� � �� �������$��) 2��
�2� �$ �� �Q� ;<S>) �� ��$�!����� �$������ �$ �� $������
��� �� E�� ���2� ������� ��E������� �$� �������� ����
�����!���� ��� $���������� �� ��� �������$���:�#

�� ;T �� 0��������� �� ;��<) ����� ��� ������� ����
���������� �F����� ��� 8������ ��� ������) �� ����������
 5��% *���� ��!�����") �$������� ��� ��� ����'�� ����
�����1C��� �� ��� �$������ �������� ,��������� ��� ���
������ 0�$��) 0�$ /�$���� = 0�$ 5�'���) ��� ���� ��� ��
��'����� ��$'�$��� ������������� ����$�� �� -�!����)
�� ��� ������ 8������ = �� ������ ��� ������� ��������
= ������1���� �����$� 5��% *���� ��!�����: M�=) ��
������ E�� �� ��2������� �� ������� E�� ����� �$ ��
����$�� ����� ��� ���C��� 8�����$�) ���������� �$� �$�
��$�� ����'���� �� �����C�����$) �����������$) �������
'����$ = ��!����$ �� �� �$��$�� ��E���� ���$��C�� =
��������:�#

*1� �� <� ��� ������ �����$�$ �� !�$�� �$�����
�� �� ����������  5��% *���� ��!�����") �$��� �$��$�
����� = ������ �� ��� ������ P6/) P6// = P6///? ����1�
�� ����� U� ��� �� ��� ������ P/P = PP? ����� �����
'��F��$�� ��$ ���� �1� E�� �$ ����'� ��������1C��)
��$ �$ �������$�� 2�������� = �������� ��=� ��������
2� ���� �$�������) ��$ �� ���� �� ��� ������) � �� #��
$��%���� &$�'������� ����$��� �� (�����:�#

�$ �� �����$��) �� ���������� �� 2� �������� �
�� �$'���������$ ������������� ��$ ����� �� S� ���
'��F��$�� �����$����$��� � ��� ��!���$��� �Q��) ���
������ �$ ��!���$��� ��$���� � �������: ��������$��
�� ���������� ���$�� ��$ ����� �$��$�����) �� F�����
2� ���� �����$����$�� 2������ ��� 5�$���$ *�$��=�
-������) E���$ �$��$��� �$��� �� !�$�� �$����� �� ����
��� '�����$ �� �� V���� V�$��) ��$ <;T �Q�� ��
2���� ���� ������� ��� �� .������ 5��$ �����$ � ���
����� ��� *����$ 7���2:�# &$� �� ��� �����������$��
�������� �� �� ��$���'����$ �� ��� �������$��� ������
����� E�� ��$ �$ ������ ���� �� 2���$���� =� E�� ��
���� E�� �$��� ��� ��Q�� �1� ����$�� E�� �����$��
�� ����� �$����� �� �$���$���$ ��� ��������� ��������
���) E������� = !���������1$����) ���$�������$��: ��

�������) ���$� E�� '�� ��$ �� �����$��� �� ��������
��$����� ���� 2�$��� � ��������� E�� �!����$ �� ���
�������$ ��� �����: ���� ��Q� �� ������� ��� �� !����
�� ��$���� �$ �� 2������ ������'� ��� 1��� �� ����
������: �� ����$�� �������� E�� ���,����� �� ����'�
2�������� �� �� E������) �� ���� ���1 �������$��� ��$
�� ����� ��������� ���� �� ����������$: �$ �� ������)
�� �������� ������$) ��$� � ���� ���� !������� �� ���
���) ���������� E�� ����$������$ �$ �����$��,� �� S��
SSG �� ��������: � ������ ��� ����� P6/// �� ������
� ���� �� ����� �� ������) �� ���� ������ ��������
�� <��T�G = �� �����$��,� �����$�� �� ��$!���� ��
��������� = ����� �����$�$���: &$� �� %���� F����
��� �����$��� �� �� ���$�$�) 1���� $������ �����$��
�$ �� ������� �� ��� 1������ E�� �� �+��$���� � �$
����������� ���� �� 2������ ������'� � �� ���) ��$���
������) ����� �� ����$� �� �������� = ����� ���'��
��� �� !�����$�����$ ��� �����: ��� ��+��� ��� �����
P6/ = P6// �$������$���� �$ �������$� ��$ ����
��%$ �!�������: �� ���'�$�� �� �$ �������� ���1$���)
�� �������$� ������ 2������) �� ������ = ��$����: &$
�����$�� �1� E�� ��Q� ��� ������ �� �� �����$����$
$������: ��� ��=�� �$!�����,�� = �����'������� �� �� ���
����� ���,�����$ �� ����$� �������� ��� ����� = �!����$
�� ���������$) �� ���� �� ���$� �1� ��������: 7�$���
��$��) ��� ��������� !���������1$���� ��$ ��������
��� �� ��� ��$�,� ��� ����'�) �� �2� E�� �� ��$��$�
��$ �+2�����'�� ������$�����$�� � ��� ��������������
= ���1� �����$�� E�� ���$� ��$����� ��$ %���) � C$
�� �'���� ��=���� ���,������:!#�!$ �+����$ ����� �$'���
�������$�� �������$���� ��$ �������� ���������������
�����$����� = ������$����� ���� �� ��������� �$ ��
#��������� R����$��  5��% *����" �$ �� �Q� >��T: �$
��$�� �� ����� �� ��������$�� � ���$��C�����$ �� ���
������ !F$����� �+����$��� �$ ������$��� �� �� #���
������� R����$�� K5��% *����K �� 8���) �� ���� ���'��
���� ������$��� ������� �$����$���� � ��$������
��� !������� E�� ��������$ �� ���������� �� 2�$���) ����
��$��� ��� ��������� �� ��� ��������$��:%�!$�!%

�$ �� &$�'������� ��� 6���� �$ 8���) 8������� �$
>��S) �� ������� �$ ������� �� �� ��������$ !F$����
���� ������ ��� 2�$��� �����$��� �$ ��� ������ = �� �����
�$�� �� �� ����������: �� �������� �� �!����� �$ ������
��$ ���$�� �� �������������: 0� �������$ �$ ����� ��
U�S �$������ !��������� �� ����$��� W&78B �$ ����
��$ ��+����� = ���� = ���� ��������) ����������� �$ ��
�����$�� W�S:NGB = �$ ��� ������ W;�:DGB: �� DN:;TG
�� ��� &78 �� ���������$ �$ �� 4������� ��$����) ��

-�' *�� &�0 R��'� %����? 6��: >A R�: D: 5���� >�;; � 0��������� >�;;



�> ������� �������������� ������������ �

S:N�G �$ �� 4������� �� �� M��������� = �$ DU:SNG
�$ �� 8�������$ �� ������ �$������: 0� �$��$�����$
;N �%$����) �������$�$�� 8����������� W<S:N>GB)
7������� WS)D;GB) 8��'������ WT)T>GB) �����������
WT)DNGB = 82�������� W<)TUGB) ����� ��������$ ���
������� ���� ������ �$ ���� ��������:"

�� ������� ��������� �$ �� #�$�� *�$������ ��
�� M���$�) �������$� �� ������� ��$����$����$ ���
�����$�� ��� ���$��� ����������: �$ ��$�� �� ����
����$ ��$����$�$��� !F$����� �$ ����� ��� ��$��
�$��������:!&

�$ �� ���������� �� �$���%� �$ ;SS� �� 2��� �$�  6��
�������$ �� �� �C����� ����������� ��� ���$�C�����
�$ �� ��$���'����$ �� ������ �$������" ��� (��2�$
= ���:) �������$�� ������� �$� ���$��C�����$ �� ��
@��� ��������$� �����$�� �$ ������ �����$����$��� �
�� ���������� 5��% *���� ��!�����) ������ E�� !����$
��������� �����������$�� � �$ ��������$�� ��$ ���$�)
���� $� �� ����� �� �����������$ ����� �� ��� ��������
��$����� ���$��C����� ���'����$�� �$ �� ����������:!'

.����%$ �� ������� �+��� �� �����$� �$ �� �������� ����
�����1C��) ��� ���������� !����$ �����!�������� =� E��
$� �� ����� $�$�F$ ���� �� ���������$���� �����%� ��
������� �� ��������$��) ��$ �������) ��'� �� ���'�$�
��,� �� $� ��� ��1����� ���� ���� �� ����������:�!

��������$�� �$ �� ���������� �� �$���$���$ ������
����� UT ��,�� ��$ ������ �$!�������) = �����$�� E��
���� ��$���'� � �$� �%����� �������$�� ��� ��������
$�� �� �� 2���$���� ����$ ��� ����$��������� �� �1�
���$�� ������� ���� ������ �� ����$�� �� ���������)
���� ��$ ���� ����$������ �� ����1 �'���� E�� ��$�
��$F� �� ��$����$����$: (�� ���� ����� �� ����$�����
��� �� �����$�� E�� ������ �$ ����� 1���� ��� !�����$���
��������� �������������:

4���'��� �� ���� ����� �� $�������� �� ������'��
�� �������$�� ������$��� E�� �������� �� ����������
 ��!�����") ���� �� ���� �� ������� �$ ��$������ ���
������������ ��$�� �� ��� ������ = ��$�������� ����
��� ����� �����$�� = �����C����) ��$ �� C$������ ��
��$���� �� @��� ��������$� �����$�� � �������$���
��� �����$�� E�� ��������$ �� ��Q� �� ����'� ��������1�
C��: ����1� �� �� ��$��������$ �� �� ����������) ��
E�� ��������1 �����$��� �� '��� �� ����� ������$���
2���������:

=3  !��"�!# $ %&��'�(

�� ������� �� ��'���� �$ D ������A �B ��������
�������������� ��� ����'� ��������1C��) �B ��������
��������������������$��� = �� �����C���� = �B �������
�� ��$��������$:
 *�(�"�� '�# !-�"�� ���#��>"?@-�

0� ����������$ �$ ����� �� T� ������) �������$��
����� ���%����� ���� �������� �$ ������� �$ 2F����
�� �� �������� �$������) �������� ���������) ���� = ���
���: ��� ����� �� ��������$ �$ �$ !����� ��$ U� ��
�� ���� ������$���) �� %��� �� ������$ ��������� �� ;
�� = �� �$�������$ ��� '������ �$ ����� �$ ����� ����
���$�� ���1$��� = ���� ��,� �����) �� �$������$ � DN"

8 ����$�� U� 2) �������$�� �� �$����� �$ ���� ����
��+����� ���� ���� �� �$���� � ����������� �����$��
�� < � N ����: �� �%���$� �� �� �$�������$ �� ��������
� �� ���$��C�����$ �� ���������$�����: (��� �� ����
�� ��� ������ �� ���� ���� ��+����� �� �������$ � ���$�
��C����$ ��� 2�$��� �����$��� 2����$�� ���$��������
�� ������� �� < � N ����:

(�� ���� ����) �� �$���� �� !����� ��$ �� ���� �����
��$��� �����$�� ��� >U 2 � DN" 8 ���� �����������$��
����� �$� ����� E�� �� ������ ��� ������ �������
�$ ���� ��$��� �� ���$���) *�� 8�$J�= = ���� ����
��+�����) ��� �������� ��� �� �$������$ � DN" 8 ��
>U�U� 2���� = �� F����� �� �$���� � ����������� ���
���$�� �� < � N ����: 0� ���$��C����$ ���������$�
����� �� ������� � ��� ��������������� �����������
��� = �������������: (��� ����� �������� �� ����
���� ���� ������������ ��� R����� VC������ *�+�
���$�� W4����� VC���� �� �� 7��������$) R���� VC�
���� *�+���$� RV*��S>�00�;�;SSU) RV*�;�S�00�;�
;SSU) RV*�;;��00�;�;SSU = RV*�;;;�00�;�;SSUB:
#�(

����1� �� ��� T� ������ �� ������� �� �F�E����
�� 2�$��� C����$����� E�� �������$ ����� �����$���)
���� �� ���� �� ���� ������� �� ��E��Q�� !�����$���
�� ��� ������ �$ ��$�� �� �����$���� ���������) ���� ��
������� ��$ ������� ���� $� ��������� ��=�� ��Q�: ���
��E��Q�� !�����$��� �� ������� �� �$�������$ �����
�$�� �� �%�$��� �� D ��$��� �$ ����� �� ���� ����
��+����� = �� �$������$ � ����������� �����$�� ��
< � N ����) ���� �����$�� ��$ �� ���$��C�����$ �� ���
�������$�����:
 *�(�"�� '� !%���.��

�� �%���� ���� �� �������� �����$��� !�� ��� �+�
�������$ �� ������ �� ���� *�� 8�$J�=) ���� ��$��� ��

-�' *�� &�0 R��'� %����? 6��: >A R�: D: 5���� >�;; � 0��������� >�;;
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���$��� = ���� ���� ��+�����) ��$ �� C$ �� ����� ���
������ �$�������������) $� !����$�������) ����� ����
������'��) ��'������ = 2�$��� ��$����$�$���: ���
������ �� ��������$ �������� �$ ��$��� ������%�����
������$�� �� ��=�� ����� ������� �� �� ����������) ���
��$�� ;< ��$����: ��� ������ �� ���� *�� 8�$J�= =
���� ��$��� �� ���$��� �� �$������$ ����$�� >U 2 �
DN" 8 = ��� ������ �� ���� ���� ��+����� �� �$������$
� ����������� �����$�� �� < � N ����: 4����%� ��
���$�������� �� ������ �� �$�������$ �� ���$��C����$
= ���$��C����$ � ��� ���������$����� ��$����$�$���:
 *�(�"�� '� (*8�"@-��(

0� ������� �$� ���$����� �� �����$�� ���%��� E�� ���'��
���� ��������� �$ 1��� �� < + < ��: 0� �����$ �����
���%����� �� ������$ E�� �� 2����������$ �$ �$ !�����
E�� ��$��$�� U� �� �� ���� ������$��� ���%���: 0�
������ �� ���$����� ����� �$ 1��� ��������$���) ���$��
�$� ���� ���� ����� �� ��������: 0� ���� ��$����$��
�� ���� 2��������� ����� �� �����C��� �+������: 0�
������ �� ���� $��'���$�� �$ �� �������$ �� ���� �����
��$���: 0� ����� �� ���� � ����) = �� �������� � ��
�$��������$ ��� '������ �$ ����� �$ ���� ���� ��+�����
= ���� ���$�� ���1$��� ���� �� ���$��C�����$ = ���$�
��C�����$ �� ���������$����� ��$����$�$���: #�����
�$ �� ��� R����� *�+���$�� W4����� VC���� �� ��
7��������$) R���� VC���� *�+���$� RV*��S>�00�;�
;SSU) RV*�;�S�00�;�;SSU) RV*�;;��00�;�;SSU =
RV*�;;;�00�;�;SSUB: #�(

A(�*'�� '� (!.���9!-�5.

(��� 2�$��� �� ������� �� ���� ���� ��+����� ���F$
�$�������$�� ��� ���'�����) �� ��,� �$!���� = �� ��
������ � �$� ����� �� �$��!F$���� ���F$ �� �������$
������$����) � ���� ����� �$� �������$ �� ��$�� ��$�
��$������$ �� �� ������$���� = �$� ������� �� ��=��
��$��$������$: 0� 2�����$��� �� ���� = �� ��,� �����
C���) � �$� ����� $� �� �� ������ �� �$��!F$���� ����
���������� ���� ����� ��$����: 0� ��'����$ ��� U ������
���� ���� 2�$�� � ������: �� ������� �� ��� ��!��
��$��� �������� �� 2�$��� �� ������� ��� �� �%�$��� ��
��$���) ������$�� D ��$��� �$ ���� �����) �������$��
���� ����������� �$ ��$�����$�� �� �����������: 0� �$�
������$ ��� ������ � ><" 8) ��� >; ���� ���� �����'��
�� ��������$��) �����$�� �� ��1����� �� �� ����$�� ����
��� ����:
(��� �� ���� �� ��������� �� ������� �� ����� �� ����

��'� ���� *������ M�$��$: 8�$ �$ �����'� !����� �� ��
���� ���� �� ���� �$� ��E��Q� ��$����� �� �$�����
= �� ������� �$� ������ �$ 00/ �� �:< �� �������� �$

�� $�!�������� �� *��!����$�: 8�$ �$ 2����� ���%���
�� ������ �� ��$��� ����'� �$ �� ���� *������ M�$�
��$: � ��� ������ �� ��� 2��� ����� ��$ �=��� �� �����
��E��Q�� ���%�����: 0� �������$ ��!���$��� ��$��$����
���$�� ��� ����$!����$�� �$� �� ��$�� ��$��$������$
= ��=�� ��$��$������$ ������$�� �� �� ��$��$������$
�$������ ��� �� ���'�����: 0� ��������$ ;�� �� ��
���� �������$ ��� ����$!����$�� �$ ��� ����� E�� ��
2������$ �$ ��� ������ �� �����'� ���� ���� ��������)
�� �$������$ � DN" 8 ��� >U 2����) �� �����'� = �����
�� 2��� �� �$2������$ !������ ��������� ��� ����$!���
��$��: (��� ��$������� �� �� �������� ��� ��$����� ��
����$!����$�� �� ��1����� ��� ����) ������� ��� ��=��
� ����� �� ����� ��� ��1����� ��� ����:

B3 )�(*#�!'�(

 *�(�"�� '�# !-�"�� ���#��>"?@-�

�� �������� ��� ����'� ��������1C�� ��$��� �� T�
������) �� ��� ������ �� �>G �����$�� ��������$�� ���
������$�) ��� ������ ��������$���� �� �$��$�����$ ��$��
�$ ��  M������� �� ������ �$!�����" ���� �$ 1���� ��
��� ������������ �� �� ����������:

�� ��=���� �� ��� ������ �����$����$ �1� �� �$ ���
�������$���� = �� �����'� E�� �� ������� ��$ ��=��
!�����$��� !�� *�$���� ��) ������� �� ����������� $����
= (�$�������� �� �$��� �����: .����%$ �� �����'�
E�� �$ ��� ������ �� �������$ ��������� ���� 0�����
��� �����$��$�) 8���������� !���$���) 0���2=��������
������2=�����) �$���������� ������� = �$����������
������$�� ���$�� ��� F������ ��� ��� �1� ���$��$���
W7����� ;B:

C�>3 23 *��������$����� �������� �$ �� ����'�
��������1C�� ����������
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 *�(�"�� '� (*8�"@-��( $ !%���.��

0����C����
0� �'���� �� ��$����$����$ �� #*�) 2�$��� =

��'������ �$ �����$��� �����C���� �$����� �� �� ���
��������) ��� �������� !����$ ������� �� ����: �� ���
����� ��$��� �� ;�U �������� E�� ��$!������$ �� ����
'���� �� ;; ���������) �����$�� �� ���$��C�����$ �� �$�
��'������� �� 2�$���) �$��� ��� E�� �� 2��� �������� �
*�$���� �� ��� �� �����$��� �$ ����� ��� ���������:

�����$��
��� ���������� ��� �������� �����$��� ���������$

E�� %��� �� �$���$��� ��$����$��� ���$�������$�� ���
2�$���: 4� ����� !���� E�� �$ ��� ��������� �$���
������ *�$���� �� ������� �� !�����$��� �$ ����� ���
���������: ����1� !�� ������� �� ���$��C�����$ ��
0���2=�������� �����������) #������� �������� = #�����
��� �� ���$�� %��� F����� �� �1� ���$��$��: �� C����
> ������� �$ �$1����� ���������'� �� ��� ���������$�
����� ���$��C����� �$ ��� ��������� �� �����C���) ���
���$�� = ������: 8��� ��$���$�� E�� �$ �� ��1C�� ��
�+���=�$ ��� ���������$����� E�� $� ��$ �����������
�� ��$�� �$ > ���������:

C�>3 =3 *��������$����� �����$��� �$ ������) ���
���C���� = �����$��

A(�*'�� '� (!.���9!-�5.

0� 2������$ ��� ����� �$����������$�� ��$ <
�$��!F$�����A !���������) '�$�������$) �����$�����)
���$����� ��J� = ��$���� ��$��� ��� ;D �������� ��
2�$��� �������� �$ �� #���������) �$ ���$�� � �� ����
�������� �$��!�$����� W7���������) '�$�������$) ����$�
�����B �� ����'� �$ ��� D ��$��$������$�� �������� ��
;�� G �� �!����'���� W7����� DB:

C�>D B3 �C����� �$ �����$��,� �� ��� < ����$!���
��$��� �$ ��� >; ����

4� ��� T ����$!����$��� �������� ��$��� ��� �����
��������$��A *��$����� ��J�) #�$����) ����������)
4��) (����� = �������� ��$ �������$) ���� �� *���
$����� ��J� = #�$���� ��'����$ ���$�� ���������� �$�
2����$�� �� ��������$�� �� ��� ��$�� ����� ��������$��)
��$ �$ 2��� �� �$2������$ ��=�� � ����� � ;T ��������
���) ��$�����1$����� ���� �!����'�� �$�� ����� �����
W8����� ;B:

,*!'"� 23 -��������� ��� ���� ��������$� �� ���
T ����$!����$��� ��E����� ��$ �������$

�� *��$����� ��J� = �� #�$���� �� �������$ ������
��� ���� �������$�� � E�� �������$ ���$ �C����� �$ ��
�$2������$ ��� ��������$�� ��������$�: 8�$ *��$�����
��J� �� �������$ ��� �������$�� �� ;� �� 2���� >>�
��L� = ��� �������$�� �� ;T�) ;��) >��) >>� ��L�
!����$ �!����'�� ��$��� ��� < ����� �� ��������$��
�������� �� �� #���������  5��% *���� ��!������" =
�� ������ ����$���� ��� ��$��$������$��) �� ��'� �$
��=�� �!���� ����� 0���2=�������� �����������) �����
����� 0������� �������$� = C$����$�� ����� �$����
������� ������� W8����� >B:

-�' *�� &�0 R��'� %����? 6��: >A R�: D: 5���� >�;; � 0��������� >�;;
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,*!'"� =3 -��� ��������$� ��� ����$!����$��
  *��$����� ��J�" �������$�� �������$��

8�$ #�$���� �� ���������$ ��� ������ �������$�� =
��� ���������� !����$ ��= ��������� W8����� DB) �$ ���
�������$�� ;T�) ;��) >��) >>� ��L�) �� �����'� E�� ��
����$!����$�� �� �!����'� ��$��� ��� < ����� ��������
�$�� �������� �� �� #���������  5��% *���� ��!�����"
W8����� DB:

,*!'"� B3 -��� ��������$� ��� ����$!����$�� ��E�
����  #�$����" �������$�� �������$��

E3 F�(-*(�5.

�� �������� ��� ����'� ��������1C�� �� ��$!���� ��
T� ������) �� ��� ������ �� ����� �� ��������$�� �� ���
�������$����� �$ �� �>G WUSLT�B) �� 2�$�� �������
��$ ��=�� !�����$��� !�� *�$���� ��) ���� ���� $�
�� ������$��) ������ E�� �� �$ �%$��� �����������
= ��= ���$��$�� �$ ����� ��� �����$���) �$ ��������
�$ �E������ E�� ��$ 2F�����) ��$E�� �$ ������� �$���
'�����) ����������$�� ��$������ � %���) ������� ������
���� ��%���$�:!�!���&

0�$ �������) ����������� $���� !�� �� ����$�� 2�$��
�� ��=�� !�����$��� = �� ��$������$�� �$�!�$��'� �$ ��
�����$�� 2�������) ���� ����� ������ ���� ������$�
�$ �$��'����� E�� ���$�$ ��������� ��� ����$����� ��
��!�$��: ����1� �� ����$���� ���������'� �� �����
���� �� ���� = �� ���������$ �� 1����� �� �������$��
��� �� E�� �� ��$C��� �$ ���'��� ����� �������$�� ��
������: (�$�������� ��) ����� �� ������ ����� �$ !���
���$���) ����1� �� ��$�� ���� ����� ������������) ���

�� E�� �� �����$��� �$ �� ����'� ��������1C�� ������� ��
���� �������) �����%$ ����$�� �������� �� ���� �%$���
,�$�� ��$ 0������������� �� 2�$ ���� �������� �� ���
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